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3.3 BH&E (gibbs free energy) — R B
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Temol!+ K
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CO(g) = Cs+ 702 (g)

s 1970 560  205.03

AHy,  -110.5 0 0 kJ * mol™
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. H =1 : * mol

A,S5%=-0.0897 kJ » mol™ « K™
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NaCl(s)

A,G,=-9.04 kT » mol
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A,GS=-5576 k] * mol’
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Questionl:

450 g JKZESAE 1.013 X105 Pa Fi
100°C F&E4E sk . CAILE 100°C I
IKINZERIN 2.26 k] + g - 1. Kitk
AW 7@ A1 AH,AU.

Solution

H20 (g) H20 (1)
Arm0- n=0 - (450g/18g * mol ‘)=
-25 mol
WEp A V= AnRT
= -25 molX8.314 X10 °kJ * mol
'« K 'X373 K
= - 77 kJ,
Q= -2.26 kJ+g -1X450 g = - 1017
kJ
A U=Q - F=-1017TkJ - (- 7T7k])=
-939.5 kJ

AH=¢ = §= -1017 kJ




W | QuestionZ:
> Solution

OV H2, N2 Fil NH3 76 298 K [HbrifE

B4 130.6 ] « mol-1<K-1, |AS, =2xS,(NH;)—[3xS, (H,)+1xS;(N,)]

191.5 J *mol-1+K-1 Hl 192.3

J * mol-1«K-1, ikiI5& Jx i 3H2 (g)

+ N2(g) — 2NH3 (g) [HhnufE

2%X192.3 Jemol" «K'—3X130.6
e mol" *K'—1X191.5J * mol™ « K"
—198.3 Jmol™' ¢ K
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